x—4

Ly=7=4—= J X v 2"’:525-:“ x v/

J -J6 .ﬁ; 2 o
X~ > 6 A5 > %
D: (-9, -JE,')U U_(:; D‘) x2% D:(-5
3 y= 4 - sy=VE=® g
x2 1646 Di(-2)(-44hl4ed 4-x20 &
X416 4 25x° L
X#".'-'q X éL’ D.'[-—JI
5.y = 3:_9 D.’ ("0013)U (43,00 6. y=3x—4
3x-940 ) D: (“’O'@
3x#9

X3



7. Determine if the following are inverses.

f(x)= x*+3 and g(x)= tyx -3

(=) 3 gt 2
Flq)=(Ex3)+3 gLtz =2e
=X-3+3 :W

= % =X



Find the inverse. Graph both th inal function and its inverse.

’

8. f(x) = 4(x + 2)

) =Yx48

X:L{Y+8

9.f(x)=x*+4

-




10. f(x)=x-—3 gx)=x+4
a. Find f~1(x) - g~ *(x)
)l =%-3 )l = X+9
(= =23 X=Y +Y
I-l: %3 -' = X-4

NEPSE ,()g)

flx)

b. Find —

T XY

glx)

) X¥F-Y



11. f(x) = x*—x+7 Evaluate f(x — 1)

Fler) = (x-1) ~ &1)+7
=X Axrl =X H?
= X 3%+9



12.f(x) = x*+2 gx)=x-1

a. find f(x) —g(x)( l) b. find f(g(x)) 2
2 -
= X4 =Xl =
= XWX +| = X"XB‘J F(.S&))— (x )4
. find (fg)(—1) & x-"- LY 3+

£(4) ;j(ﬂ) -‘-];:~ 2% + 3]
372



13. Write the equation of the line perpendicular to 2x-3y = -5 through (-1, 4).




14. Find the equation of a circle whose diameter has endpoints (2, -5), (8, -1).

Conter: (5, '3) J:j( g-3)°(-148)7
(’: 136416 = /53

Z—;—T ERE 9= 23

= M -




15. B is the midpoint of AC. IfBis (2, -4) and A is (-3, 0), find C.
g B ¢
—t—e—19
(30) (1) (% )
X-3 _ +O _ - (7 "‘3)
= =2 )f-,a— =~ -4 C ( [

X"bl-q :—g
X=7 !




16. ADEF has vertices D(3,4), E(3, 1), F(-1,1).
_A. Find the equation of the median from D.
¥

\A‘)\'F Y, ’ ) :'%

B. Find the equation of the altitude from E.

lpeof FD= 11 .3 _ -
(ed F \13 "'-l %_Qm _j_ E(3

Y =+l (of8 y
- 3(3)4J . i
l ==Y




17. y=2(x+2)*-3

2
18.y=§

L]

|

vert.

Shrekch

L2

D3

D4 9)

RL-39)

R?p- Y-0XS 20 y= -Yx¥3+2

R5

D.’("’OJ 5]

R:{ 0,69

verd. sfeich

R3

~

- -i_-

D(-23)v(3,60)

R:(20)u(0,%)

%

eeﬂ X0x'$
L3, u2

D:(-2)

é-.

N

Q:("Do;ﬁ)




2L y= %x3—1

V@f‘l. .Shl'lh k
D)

P

22. y= —|x-3| -1




23. y=x>—4x>+x+6

R

Zeros- |

o, (131 6.065)
Min- ( 9.53.';} .8 77)

Increase- ('°°/ s 13))0(3.535,' oo) |

Decrease- (-!31. 9-535-)
D: (-o0,0)
RI (-oO,oO)

-< ! ""'»"ﬁho-_______: |




24, y= —2x*+ x*+18x—9

Zeros- £ . ';"7, 3

S

max. (1L107,15.0%3)

win- (15 73,‘37.055)

Increase- (',-5'73! ).?O?)

Decrease-('w ) "-573) 0(1-707' 649

D: (-0,09)
R:(-s0,%9




